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510 + (17 x 5) = 510 = 85 = 6(7H)
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D48 +2x6=24%x6=144
@ 48x6+2=288+2 =144
@ 6x4+2=288+2=144
@48+ (2x6)=48+12=4
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1A1ZF=604, 60 E=55 x12 0|22
(LA F 2™ Ad)=1x12 = 12 (km)
(2AIZF B 2 Ag)=2x12 =24 (km)
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(13+8)x3-17
=21x3-17
=63 - 17 = 46(7H)
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120 x 4 4 (120 x 4 + 70) X 3
480 + 550 x 3 = 480 + 1650 = 2130 ()
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(12x7-9)+ (124 13)

= (84-9)+25

=75+ 25 = 3(7N)
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‘ 1200 x 3 +4 = 3600 + 4
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228 — 360 + 24 x 3 = 223

@ (228 —360 + 24) x 3 = 223
@228 - 360 + (24 x 3) = 223
® 228 — (360 + 24 x 3) = 223
@ 228 — (360 +24) x 3 = 223

® (228 - 360) + (24 x 3) = 223
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4x10-6+8+2=20

D 4x10-6+(8+2)=20 @ (4x10)-6+8+2=20
@4x(10—6)+8+2:20 @ 4%x10-(6+8)+2=20

® 4x10-(6+8+2)=20

4x10-6°] 16°] =™ gto] 200] FlB2=2
4%x(10-6) =4x4=16
webA] 16 +8 +2 =16 + 4 = 20°] ),




